
pjet
T [GeV] Best fit (fb)

σ0−30 3.19+0.25
−0.21(syst.)+0.27

−0.27(stat.)× 101

σ30−40 4.81+8.97
−8.46(syst.)+28.07

−25.92(stat.)× 101

σ40−55 7.37+0.69
−0.74(syst.)+2.13

−2.52(stat.)× 102

σ55−75 1.33+0.34
−0.32(syst.)+1.06

−1.01(stat.)× 102

σ75−95 9.60+3.00
−2.91(syst.)+8.96

−9.60(stat.)× 101

σ95−120 6.13+1.25
−1.03(syst.)+4.63

−4.47(stat.)× 101

σ120−150 8.20+1.23
−0.83(syst.)+3.58

−3.50(stat.)× 101

σ150−200 7.25+0.00
−37.54(syst.)+118.71

−117.44(stat.)× 10−1

σ>200 2.41+0.23
−0.17(syst.)+0.55

−0.53(stat.)× 101


